SkBMOEEHE
Skt 3.0x25x 315, HEM AMBTEODEE

LEtEEE
1-1.58 k¥ D ~Ti%
- [AZE0E B= 3.000 (m)
- AERTE L= 2.500 (m)
- AEFE H= 3.150 (m)
- {EEEE Tw=  0.300 (m)
- EhE Tb= 0400 (m)
12 BE&H
- tOBEKEEE ys= 18000 (kN/m®
- TOREERS = 30000 (°)

1-3EF RIS HE

. St Es ock= 18000 (N/mn?
- FABITEIRS HE ota= 0225 (N/mmd)
- SIS (FIEME S S E Oca= 8.000 (N/mm?
ST AR Ta= 0450 (N/mm?
. ShESE (S osa= 1600 (N/mn?
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- RRTEFELDTARYA w= 414 (°)

- THRERE A= 18292 (m/m)

- TIRE=E W= 329.261 (kN/m)

- BEE Q= 9.712 (kN/m)

- wmKRLE Pa=  67.763 (kN/m)

- KELFE Ph=P,%Xcosd =  63.676 (kN/m)

- RELXE Pv=P,xsind = 23176 (kN/m)
R wW(E)  PkN/m)
100 37.0 59.540
680 | 38.0 62.966
660 39.0 65.421
2640 | 40.0 66.976
> 620 - 41.0 67.696
T 600 | 420 67.637
580 | 43.0 66.849
56.0 | 440 65.378
54.0 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ 45.0 63.654
370 380 39.0 400 4l£ 420 430 440 450 wmax(l'f'i) Pmax(kN/m)
o) 414 67.763

2-2. TR OKELERED

ITEAZARITITEILDERELTIERKZRDD,

Ka = 2xPh/ (7 xh?)

= 2x63.676/( 18.00 X 3.350 X 3.350)

= 0.63
2-3EME

- BB RETORE
h

- B NI LERE

H + Tb/2 = 3.150 + 0.400/ 2
3.350 (m)

Pa= 7sXhxKA =18.00 X 3.350 X 0.630
=  37.989 (kN/m)

-

Ph




BEMICERTSAHRENE
EARICERTAMEIIRAREELNELTEDSHEZEMRERETRL-BR HET S,
- RABERIBRES)DFE

WME=S Wm = (V2-V1)X v ¢
= (35.154-23.625) X 23.00[24.50] [ 1N ILE&kEHFa 21—k

= 265.167 (kN) CEEHOV0) - DEE
= 282461 (kN) (#kmaV ) — DB E
PN ZE(RTE
V1= BXL X H = 3.000 X 2.500 X 3.150
= 23625 (m%
BRIk
V2= Bo X Lo X H = 3.600 x 3.100 X 3.150
= 35.154 (m%
pi 2 ig
Bo= B + 2 X Tw = 3.000 + 2 X 0.300
= 3.600 (m)
WeRITE
Lo= L + 2 X Tw = 2.500 + 2 X 0.300
= 3.100 (m)
MELXE
Wp = Pv X Lo = 23.176 X 3.100
= 71846 (kN)
MEHEET

|G D)—LDIGE
Wt = Wm~+Wp = 265.167+71.846
= 337.013 (kN)

#HEmar o) —rDigE
Wt = Wm—+Wp = 282.461+71.846
= 354.307 (kN)

- MR ADEHE
EMRERE (EREEE. AP DTHENERET D)

A = (B+Tw) x (L+Tw) = (3.000+0.300) X (2.500+0.300)
= 9.240 (M)

iR H (EHIAVI)—FDIES)
w=Wt/A=2337.013 / 9.240
=  36.473 (kN/m)

iR h (BHar o) —rDIEE)
w =Wt/ A=2354307 / 9.240
= 38.345 (kN/m)
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BERZTDWE AL, BABREZESDIRABASTDIEHE-hH I DHERER

WTEHT 5,
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0.18 ] —
:: Mx2 ox1
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-2 fIERDMENEFE
(1) BIERRDDREE (Ly/Lx)

- BB RO S h=H+Tb/2 =3.150 + 0.400/ 2 = 3.350 (m)
- BB R DR W =B + Tw = 3.000 + 0.300 = 3.300 (m)
- BLRE Lx = MINCh , W) =MIN(3.350,3.300)= 3.300 (m)
- R Ly = MAX(h , W) =MAX(3.350,3.300)= 3.350 (m)
- DR Ly/Lx = 3.350 / 3.300 = 1.015
Tw B Tw
I
N
~
o)
[—
+ | = 1
o |
Il
Q) EENMEEICKIEE D <
Lx=  3.300 (m) !
Ly=  3.350 (m) 5 - -
Ly/Lx = 1.015 —
Pa= 37.989 (kN/m) W = B+Tw
EENHAEEICKIMEANTAER
1EHH HBEERT %# C gxX ¥rmE 5 w%E
. Mx1 HEA M) - 44 E -0.0351 [C-Pa-Lx?| -14.521
;_E'Z/I\ Mx2 | #E75 - Pagl 0.0083 |G-Pa-Lx’| 3434
(kN-m) My VRN ~0.0303 |C-Pa-Lx?| —12.535
My2 vl Rkl 0.0091 [C-Pa-Lx’ 3.765
HAMA Qx HEtA W) 0.3290 | C-Pa-Lx| 41.245
(kN) Qy f& 7 A 0.2444 [ C-Pa-Lx| 30.639
/, w A
RN Ty -
4 Qy1 Z
Qy1 My , =)zzpu] \ Qy1 (max)
-~ ——
:>> Mx2 Ox1
j‘ = :>> — H SN —— _ j
- = My2 H -
. Mx1
My1 —
(max) 1 N
(hic & Z
‘ My 1 /_L My1 (m'ax)
X




-3 ERRDBTE NETE

(1) ERRDIBELE (Ly/Lx)
- [EIRODIE Bb = B + Tw = 3.000 + 0.300 = 3.300 (m)
- BITE Lb = L+ Tw = 2.500 + 0.300 = 2.800 (m)
IR Lx = MIN(Bb , Lb) =MIN(3.300,2.800)=  2.800 (m)
- RIAE Ly = MAX(Bb , Lb) =MAX(3.300,2.800 3.300 (m)
- DR Ly/Lx = 3.300 / 2.800 = 1.179
7 w
Viv iyl /
w2y Ai
] Mx1
—= Qx1
= 5 En
7,
ENHEERMABEER S TDIEHAK
0.10 1.0
0. 09 0.9
~Mx 1
s
0.08 ] 0.8
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,/
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0. 06 |/ — 0.6
~ /A ok ~
» ” P
2 0.05— 0.5 2
Qy1
= 0 04 e 0.4 °
Pre
A | k2
0.03 —— 0.3
/
002 L My2 (max 0.2
N
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(2) BB R AKX HMEAEBHIVT)—LDIGE)

Lx = 2.800 (m)
Ly = 3.300 (m)
Ly/Lx = 1.179

w= 36.473 (kN/m)

iR AICKSEE AD(EHIVI)—LDIFE)

IEB BEEM Z#C g W =
. Mx1 523075 [ - SMAl -0.0625 | C-w-Lx>| -17.872
J_f)‘j{/F Mx2 | ®B5MA-FE | 00244 | Gow-L’| 6977
(kN-m) | My RiDAR-SMEl | -0.0548 | c-w-Lx*| -15.670
My2 A4 R - N 0.0156 | C-w+Lx? 4.461
HAEA Qx Y CRUWAIL 0.4812 | C-w+Lx | 49.142
(kN) Qy KGR 0.4517 | C-w-Lx | 46.130

R7VIHIZEBHITFE—AVIDOMIE GHEERILMEE HF AKX E-P336]I1ZHLS)
FORTROF-E AT R7YULE v=0 ELI-BEDETHS,
ZZT.AALT= v=0200 [T HEXRXZEANTHET 5.

BE. VIZEKAHWEIL ROPRTERT S Mx2EMy2(2x L TIT,

-V v)Mx2+(v,- v,)My2

Mx2’ = >
1_V1
1-vi~v,)My2+(v,—- v ,)Mx2
My2’: ( 1 2) Yy 2( 2 1) X
1_V1
R by
Vi IERIDORT7YUH = 0.000

vV, EBORT7VUL(ASE) = 0200
Mx2,My2: {#IEBTDRIFE—A2F
Mx2 My2 : fEIE#Z DB FE—AVK

Mx2, My2DR7Y U LEICKAMIESTER

FIERIOBEITE—AF FEZOHEITE—AF
v 1= 0.000 v ,=0.200
Mx2 6.977 Mx2’ 7.869
My2 4.461 ’ 5.856
Z
Y, 7
—= Mx1
—= Qx1
== 2




() IR NI X HME N EHIV T —LDIGE)

Lx = 2.800 (m)
Ly = 3.300 (m)
Ly/Lx = 1.179

38.345 (kN/m)

w

iR AICKSEE AD(EHIVI)—LDIFE)

IEB BEEM Z#C g W =
. Mx1 523075 [ - SMAl -0.0625 | C-w-Lx>| -18.789
J_f)‘j{/F Mx2 | ®B5M-PE | 00244 | Cow-L2| 7335
(kN-m) | My RiDAR-SMEl | -0.0548 | c-w-Lx*| -16.474
My2 A4 R - N 0.0156 | C-w+Lx? 4.690
HAEA Qx Y CRUWAIL 0.4812 | C-w+Lx | 51.665
(kN) Qy KGR 0.4517 | C-w-Lx | 48.497

R7VIHIZEBHITFE—AVIDOMIE GHEERILMEE HF AKX E-P336]I1ZHLS)
FORTROF-E AT R7YULE v=0 ELI-BEDETHS,
ZZT.AALT= v=0200 [T HEXRXZEANTHET 5.

BE. VIZEKAHWEIL ROPRTERT S Mx2EMy2(2x L TIT,

-V v)Mx2+(v,- v,)My2

Mx2’ = >
1_V1
1-vi~v,)My2+(v,—- v ,)Mx2
My2’: ( 1 2) Yy 2( 2 1) X
1_V1
R by
Vi IERIDORT7YUH = 0.000

vV, EBORT7VUL(ASE) = 0200
Mx2,My2: {#IEBTDRIFE—A2F
Mx2 My2 : fEIE#Z DB FE—AVK

Mx2, My2DR7Y U LEICKAMIESTER

FIERIOBEAITE—A2K FEEDOHERITE—ADF
v 1= 0.000 v ,=0.200

Mx2 7.335 Mx2’ 8.273

My?2 4.690 My?2’ 6.157

Mx1
—  Qx1

Ly




AL NEBE
(M EmHh—ERX

BIEEDME H—E R
BE®R
o o 18I 2% Dt A ) BRI DEAR
RE 5B e [ mE | vl | m
Mx1 Mx2 My1 My2
B FE—AVE M kN'm | -14.521 3434 | -12535 3.765
HAM N S kN 41.245 - 30.639 -
EROBEH—ER (BHIV)—LDIHFE)
BE®R
IHH H=s BAf EhRDFEIA AR EROERDAM
S1481 A4 AN A4
B FE—AVE M kN'm | -17.872 7.869 | -15.670 5.856
HABA S kN 49.142 - 46.130 -
EROBEH—ER @EHa0)—rDIHE)
BEER
IHE Hik=) Bf EMOEDHR ERDORIDAM
S1481 A 51481 A
B (FE—AVE M kN-m | -18.789 8.273 | -16.474 6.157
B AETH S kN 51.665 48.497




) HhEE

EHBIE DI AT E W)

BBEEM
1EH Efis=1 BT BIBEDHE A A RIEEDIEH A
CANLA R CANLA R
W B FE—ATL M kN-m | -14.521 3.434 | -12535 3.765
T A S kN 41.245 0.000 [ 30.639 0.000
BB LI HE b mm 1,000 1,000 1,000 1,000
BBH  |BRHE h mm 300 300 300 300
R z mm®  [15,000,000 | 15,000,000 |15,000,000 |15,000,000
- i 1513805 1 BE ot=M/Z| N/mm? 0.968 0.229 0.836 0.251
= | SHIFEIELAHE| ota N,/mm? 0.225 0.225 0.225 0.225
HIF (ota = Ot) - - x X X X
EHEED S N EUERR)
BBEE
1EH Efis=1 BT ERR D520 75 A ERDRDAR
CANLA R CANLA R
W B FE—ATL M kN-m | -17.872 7.869 | -15.670 5.856
T A S kN 49.142 0.000 | 46.130 0.000
BB LG b mm 1,000 1,000 1,000 1,000
BBH  |BRHE h mm 400 400 400 400
R Z mm® 126,666,667 |26,666,667 |26,666,667 |26,666,667
- B 1513805 1 BE ot=M/Z| N/mm? 0.670 0.295 0.588 0.220
= | SHIFEIELAHE| ota N,/mm? 0.225 0.225 0.225 0.225
HIF (ota = Ot) - - x X X oK

BHRAMMEONNERTEN

- BTERE
- BAIF5I5RIS S E




REREIE D G h EH E (A1EE)

BEEM
IEH Eiik=) B I Dt A A fAIEDE AR
51481 A4 51481 A4
W B FE—AVL M kN-m | -14.521 3.434 | -12535 3.765
HAWH S kN 41.245 - 30.639 -
skt BB LI NE b mm 1,000 1,000 1,000 1,000
BB R h mm 300 300 300 300
DM RY d mm 63.0 63.0 50.0 50.0
A¥E d mm 237.0 237.0 250.0 250.0
. ERERE D - D13 D13 D13 D13
SKFARCE &% A el b @ mm 250.0 250.0 250.0 250.0
SR AB(BEAIIEYY) N A 4.000 4.000 4.000 4.000
EXARET i As mm’ 506.80 | 506.80 | 506.80 | 506.80
TR n - 15.0 15.0 15.0 15.0
IS HETE| A p - 0.00214 | 0.00214 | 0.00203 | 0.00203
FERE |hIrEmtt k - 0.223 0.223 0.218 0.218
N A R B L j - 0.926 0.926 0.927 0.927
A F [EfE G 1 E Oc N/mm? 2.504 0.592 1.985 0.596
ISHE (8K DEIEIE N E Os N/mm> | 130.557 | 30.875| 106.725| 32.056
RAEAWIGHE T N/mm? 0.188 - 0.132 -
. ABHITEMRCHE| oca | N/mm’ 8000 | 8000 | 8000 | 8000
n: j% ??%?HW%IEEFMJE O sa N/mm? 160.0 160.0 160.0 160.0
HBRTARICHE Ta N/mm? 0.450 0.450 0.450 0.450
A F [EfE G 1 E Oc=Cca OK OK OK OK
H|E |SIRIGSHE Os= O sa OK OK OK OK
RATAMIGHE T2Ta OK - OK -
HEmHRABHEOLHDEEER
b gc
- SRR b = As/b-d .
- thIfEHEE = 2n*p+(n*p)’ —np kY e
- NARSEESELE =1-k/3 } > D .
- I IEMEIG D E oc=2M/(k+i *b-d) xS 5 )
- HEADSIRIENE  0s=M/(Asj -d) -1
C BREAMISAE T =S/ -d) sy




BEEEDI D i EEMR)

BEEM
IEH Eiik=) B ERRD 5B A ERDEIDAM
51481 A4 51481 A4
W B FE—AVL M kN-m | -18.789 8.273 | -16.474 6.157
HAWH S kN 51.665 - 48.497 -
skt BB LI NE b mm 1,000 1,000 1,000 1,000
BB R h mm 400 400 400 400
DM RY d mm 63.0 63.0 50.0 50.0
A¥E d mm 337.0 337.0 350.0 350.0
. ERERE D - D13 D13 D13 D13
SKFARCE &% A el b @ mm 250.0 250.0 250.0 250.0
SR AB(BEAIIEYY) N A 4.000 4.000 4.000 4.000
EXARET i As mm? 506.80 | 506.80 | 506.80 | 506.80
TR n - 15.0 15.0 15.0 15.0
IS hEE | E p - 0.00150 | 0.00150 | 0.00145 | 0.00145
FERE |hIrEmtt k - 0.191 0.191 0.188 0.188
N A R B L j - 0.936 0.936 0.937 0.937
A F [EfE G 1 E Oc N/mm? 1.851 0.815 1.527 0.571
ISHE (8K DEIEIE N E Os N/mm> | 117.533| 51.751 99.119 | 37.045
RAEAWIGHE T N/mm? 0.164 - 0.148 -
. ABHITEMRCHE| oca | N/mm’ 8000 | 8000 | 8000 | 8000
n: j% ??%?HW%IEEFMJE O sa N/mm? 160.0 160.0 160.0 160.0
HBRTARICHE Ta N/mm? 0.450 0.450 0.450 0.450
A F [EfE G 1 E Oc=Cca OK OK OK OK
H|E |SIRIGSHE Os= O sa OK OK OK OK
RATAMIGHE T2Ta OK - OK -
HEmHRABHEOLHDEEER
b gc
- Bt p=As/b-d I 1 .
- ST B k= 2n+p+(n-p)® —n-p 3 M ¢
- AIRIEERE L i=1-k/3 . . D t
- BIFEBEAE 0o =2M/(k+j brd) s N
- HEADSIRIENE  0s=M/(Asj -d) oo/ =T

- RREAMIGHE

T =S/(b"j *d)




